

02/28/2019

Page 1 of 1

Vendor Ranking

Letting: 02190220 February 20, 2019 11:00 AM **Call Order**: 006 **Contract**: E2Z02-R0

District: District 2 Counties: ALACHUA Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 44489617201

Contract Desc: GAINESVILLE MAINTENANCE ROUTINE MAINTENANCE-BDI

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SERUR DEVELOPMENT, LLC	Responsive	Winning bid	\$63,400.00	100.00%
2	WD GARDNER LLC	Responsive	Non-Winning Bid	\$67,021.00	105.71%
3	SUWANNEE FOREST PRODUCTS, INC.	Responsive	Non-Winning Bid	\$76,150.00	120.11%
4	JT RUBY CONTRACTING SERVICE INC	Responsive	Non-Winning Bid	\$89,625.00	141.36%
5	FRANK J.CAPALLIA	Responsive	Non-Winning Bid	\$95,225.00	150.20%
6	EVANS CONTRACTING SERVICES, INC.	Responsive	Non-Winning Bid	\$169,725.00	267.71%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



FDOT

Florida Department of Transportation

Tabulation of Bids

Page 1 of 6

Letting:02190220February 20, 2019Call Order:006Contract:E2Z02-R0District:District 2Counties:ALACHUAFed Aid No:fedprojectsContract Time:365 CALENDAR DAYSProject(s):44489617201

Contract Descr: GAINESVILLE MAINTENANCE ROUTINE MAINTENANCE-BDI

This is a Business Development Initiative Contract for tree trimming and tree and brush removal on various state maintained right of ways (Rural and Urban) as directed by the Engineer. RENEWAL OPTION. BID EXPRESS MANDATORY.

BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a "Small Business" as defined by FDOT. Small business size standards can be found at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at: http://www.cmdp-bgp.com/bdi-projects.html

Prequalification per Rule 14-22 is not required.

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at: http://www.fdot.gov/contracts/forms.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to: fdot.bdi@dot.state.fl.us.

All Sublet work must be contracted to a small business or businesses as defined by the Department. The subcontractor must also submit a notarized Small Business Affidavit Form provided by the Department prior to the start of work.

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project's major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the "File Attachment Upload" folder in the Expedite application.

BDI Reference Sheet may be found at: http://www.fdot.gov/equalopportunityoffice/bdi.shtm

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

A Contract Bond is not required for contracts \$250,000.00 and less.

Line No / Item ID Alternate Item Description	Quantity Units		(1) SERUR DEVELOPMENT, LLC		(2) WD GARDNER LLC		(3) SUWANNEE FOREST PRODUCTS, INC.	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g: 02	2190220	February 20, 20	019 Ca l	ll Order: 006		Contract:	E2Z02-R0	
	No / Item ID Description	Alterna	te Quantity Units	(1) SERUR DE		(2) WD GAR	RDNER LLC		NEE FOREST CTS, INC.
	dicates item is bi	d as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	TREE TRIMMIN	IG AND REMOVA	L (MH)				
0005 TREE R	E580332 21 REMOVAL (4" 1	ΓΟ 12")	50.000 EA	60.00000	3,000.00	150.00000	7,500.00	35.00000	1,750.00
0010 TREE R	E580332 22 EMOVAL (13"	TO 24")	50.000 EA	80.00000	4,000.00	300.00000	15,000.00	225.00000	11,250.00
0015 TREE R	E580332 23 EMOVAL (25"	TO 36")	8.000 EA	100.00000	800.00	300.00000	2,400.00	285.00000	2,280.00
0020 TREE R	E580332 24 REMOVAL (37"	TO 48")	2.000 EA	200.00000	400.00	1.00000	2.00	750.00000	1,500.00
0025 TREE R	E580332 25 REMOVAL (> 4	8")	2.000 EA	800.00000	1,600.00	1.00000	2.00	875.00000	1,750.00
0030 TREE A	E580332 99 .ND BRUSH R	EMOVAL	40.000 AC	900.00000	36,000.00	1.00000	40.00	985.00000	39,400.00
0035 STUMP	E580334 1 GRINDING (4	" TO 24")	100.000 EA	80.00000	8,000.00	40.00000	4,000.00	10.00000	1,000.00
0040 STUMP	E580334 2 GRINDING (2	5" TO 48")	10.000 EA	200.00000	2,000.00	50.00000	500.00	15.00000	150.00
0045 STUMP	E580334 3 GRINDING (>	48")	2.000 EA	800.00000	1,600.00	1.00000	2.00	35.00000	70.00





Tabulation of Bids

Page 3 of 6

Lettin	g : 02190220 Feb	ruary 20, 2	019 Cal	l Order: 006		Contract:	E2Z02-R0		
	e No / Item ID Alternate	Quantity Units	(1) SERUR DE\		(2) WD GAR	DNER LLC		NEE FOREST CTS, INC.	
	dicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION: 0001 TREE TRIMMING AND REMOVAL (MH)								
0050 PRUNII 4")	E580336 NG AND TRIMMING (LESS THAN	75.000 EA	20.00000	1,500.00	1.00000	75.00	35.00000	2,625.00	
0055 PRUNII	E580336 1 NG AND TRIMMING (4" TO 24")	150.000 EA	25.00000	3,750.00	200.00000	30,000.00	75.00000	11,250.00	
0060 PRUNII	E580336 2 NG AND TRIMMING (> 24")	25.000 EA	30.00000	750.00	300,00000	7,500.00	125.00000	3,125.00	
00	001 TREE TRIMMING AND Section REMOVAL (MH)	on Totals:		\$63,400.00		\$67,021.00		\$76,150.00	
	Contract Grand	l Totals:		\$63,400.00		\$67,021.00		76,150.00	



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting	g: 02	2190220	February 20, 20	019 Cal	l Order: 006		Contract:	E2Z02-R0	
	No / Item ID Description	Alternat	e Quantity Units	(4) JT RUBY CO SERVIC		(5) FRANK J	.CAPALLIA		ONTRACTING ES, INC.
	•	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	TREE TRIMMIN	IG AND REMOVA	L (MH)				
0005 TREE R	E580332 21 REMOVAL (4" ⁻	TO 12")	50.000 EA	150.00000	7,500.00	100.00000	5,000.00	250.00000	12,500.00
0010 TREE R	E580332 22 REMOVAL (13"	' TO 24")	50.000 EA	150.00000	7,500.00	200.00000	10,000.00	400.00000	20,000.00
0015 TREE R	E580332 23 REMOVAL (25"	' TO 36")	8.000 EA	500.00000	4,000.00	1,000.00000	8,000.00	750.00000	6,000.00
0020 TREE R	E580332 24 REMOVAL (37"	' TO 48")	2.000 EA	500.00000	1,000.00	1,500.00000	3,000.00	1,000.00000	2,000.00
0025 TREE R	E580332 25 REMOVAL (> 4	8")	2.000 EA	650.00000	1,300.00	3,000.00000	6,000.00	2,500.00000	5,000.00
0030 TREE A	E580332 99 AND BRUSH R	EMOVAL	40.000 AC	600.00000	24,000.00	1,000.00000	40,000.00	2,800.00000	112,000.00
0035 STUMP	E580334 1 GRINDING (4	!" TO 24")	100.000 EA	75.00000	7,500.00	10.00000	1,000.00	10.00000	1,000.00
0040 STUMP	E580334 2 GRINDING (2	25" TO 48")	10.000 EA	100.00000	1,000.00	25.00000	250.00	25.00000	250.00
0045 STUMP	E580334 3 GRINDING (>	· 48")	2.000 EA	100.00000	200.00	50.00000	100.00	300.00000	600.00





Tabulation of Bids

Page 5 of 6

Letting:	02190220	February 20, 2	019 Cal	l Order: 006		Contract:	E2Z02-R0			
	o / Item ID Alterna	ate Quantity Units	(4) JT RUBY CO SERVIO		(5) FRANK J	.CAPALLIA		ONTRACTING CES, INC.		
	tes item is bid as Lump Sur	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount		
:	SECTION: 0001 TREE TRIMMING AND REMOVAL (MH)									
	580336 AND TRIMMING (LESS	75.000 THAN EA	125.00000	9,375.00	50.00000	3,750.00	5.00000	375.00		
	580336 1 AND TRIMMING (4" TO	150.000 24") EA	150.00000	22,500.00	100.00000	15,000.00	50.00000	7,500.00		
	580336 2 AND TRIMMING (> 24")	25.000 EA	150.00000	3,750.00	125,00000	3,125.00	100.00000	2,500.00		
0001	TREE TRIMMING AND REMOVAL (MH)	Section Totals:		\$89,625.00		\$95,225.00		\$169,725.00		
	Contract	Grand Totals:		\$89,625.00		\$95,225.00		169,725.00		



02/28/2019

Tabulation of Bids

Page 6 of 6

Letting: 02190220

February 20, 2019

Call Order: 006

Contract:

E2Z02-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.